24.5.3 Physics Paper 3 (232/3)

1. (a) Diameter of the marble = 1.70 cm (1 mark)
Radius of the marbler = 0.85cm (1 mark)
(b) @) M = 5.7g (1 mark)
(ii) P = 0.4 Mr*
= 0.4 x 5.7 x 0.85*
= 1.65 gem® (1 mark)
©
Heighth(cm) |8 9 10 11 12 13 14 15
Average time (s) | 1.75 1.74 1,61 1.49 152 143 138 | 125
£ (s 3.06 3.03 259 1 222 231 204 190 | 156
Y (em™) 0.125 [o0.111 0.100 009% | 0083 | 0077 | 0071 | 0.067
(6 marks)
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(5 marks)
(ii) Slope S = 36-0
e A By LTS
(12.6 - 1.0) x 10
= 31.03+0.10 (3 marks)
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(i) G=wmr [:—S— —E,= 5.7 % 0.85% E‘ﬂ _]
20 20

=227 (2 marks)
(@ ()
Ly=80cm
d;=0.35 mm d; =0.37mm (1 mark)
d=0.36 mm (1 mark)
Radius, r = 0.18 mm
r=18x10*m (1 mark)
®) @) Vr=0.7 Volts (1 mark)
Vs = 1.8 Volts (1 mark)
(ii) Vr=IR
Therefore, I = ﬁ = ﬂ A
R 4
=0.175A (1 mark)

(iii) H= 100x18

0.175 x 80
= 1286Qm™ (I mark)
(c) and (d)
distance / (cm) 0 5 10 20 30 40 50 60 70

pd across R (V) 1.80 1.70 | 1.55 | 1.35 110 | 1.00| 090 | 0.80 0.75J

(3 marks)
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) vi=Veo =18
2 2
=0.9 Volts
Therefore, /; = 50 cm (correct reading from graph)
(1 mark)
® D= R x 300 =4 300

— s Y

1, 1.8 50 18
=1333.3Qm" (1 mark)

® p=Z(D+H)

=(1333.3 + 1285.7)
=13322x 10* Qm
=133 x10*Qm (1 mark)
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